Unit 6 Lesson 4 — Proving Similar Triangles
Dilations produce, S\Milav  eriangles.

t Triangles: Triangles that have the same &%L but NOT NECESSARILY the same S| 2Z2C .

Since dilations produce similar triangles, the properties of dilations apply to similar triangles.
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e In similar triangles, corresponding angles are Cohayuc V\“\:‘

Today we ate going to test ways of determining if triangles are similar when only given certain combinations of pats.

For this activity, each “A” stands for a pair of cotresponding angles and each “S” stands for a pait of corresponding sides.

SAS ~ (Side-Angle-Side Similarity): The angles below are congruent. For each angle, use your rulet to measure from the vertex
along each ray and mark the length of the two sides. Label the lengths.

a. Side1: 2cm Now multiply by a scale factor of 2... b. © New Side 1: _L\_ﬂ

Side2: 3cm New Side 2: kQ v
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Connect the endpoints of side 1 and side 2 to form a third side for both triangles. Use your ruler to measure the third side of each
triangle. Label your measurements in the pictures. Use a piece of patty 'p_aper to veWorrespon&ng angles are congruent.
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AA ~ (Angle-Angle Similarity): Use your ruler as a straightedge to help ygu copydhe angle on the right onto patty paper. $lide your
patty paper so that one of the rays is on top of the other, and the other twb rays are intersecting to form a triangle. Use your ruler to
help you copy the angle from your patty paper so that a triangle is formed.

Copy this angle >

< Slide it over that angle to make a triangle

e -

easure all of thF: sides of your triangle and label your measurements on the picture. Trace your triangle on patty paper.
Compare your triangle to a person nearby. Is your triangle similar to their triangle? How do you know? \/(,Vi ’r "H’\ a 1‘
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SSS ~ (Side-Side-Side Similarity): The side lengths of the triangle below are 2.5 cm, 4.5 cm, and 6 cm. Measure each side to verify

these lengths and label each with the correct measurement. .

s/’ 3~ Mhltiply by a scale factor of 3, what are the new side lengths?
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Now, use your ruler and pencil to mark your spaghetti for each of the new lengths. Use your thumbnail to break your spaghetti at

each matk. Use the spaghetti to create a new triangle in the space below. Mark the vertices of your triangle, remove the spaghetti, and
use your ruler to draw in the sides of the triangle. Label the measures of the sides in your picture.

~

f the original triangle and the new triangle are the same. Are o
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In conclusion, you do not need to know that all firee pairs of corresponding angles are fongruent and all three pairs of
corresponding sides are proportional to determine that two triangles are similar.

At minimum, you need only one of the following combinations of corresponding parts: SA_S o g kpﬁ = , o SSS Py

Determipe if the triangles below are similar. If they are similar, write a similarity statement and show all necessary work to justify .

your statement.
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